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ByniBeabHnii pakynabrer 66% 26%
1. |bLI-11 25 25 2 9 6 8 68% 44%
2. |EIl-11 8 6 0 0 3 3 50% 0%
3. |0iA-11 9 8 1 2 3 2 75% 38%
4. |bLI-15 24 22 0 3 13 6 73% 14%
5. |bLI-14 24 19 0 3 8 8 58% 16%
6. |bLI-12 24 24 2 5 10 7 71% 29%
7. |bUI-13 25 25 2 5 7 11 56% 28%
8. [IMO-11 22 22 0 8 9 5 7% 36%
@akyabTeT reoingopManiiHUX CHCTEM i yIpaBJIIHHA
TEPUTOPISIMHU 59% 30%
1. [I'K3-12 22 17 0 8 3 6 65% 47%
2. |TYP-11 5 4 0 1 1 2 50% 25%
18 11 0 2 5 4 64% 18%
3. [I'K3-11 -
ByniBeqbHO-TeXHOJIOTTYHMI QaKyJbTET 69% 26%
1. |BIII-19a 16 15 2 2 3 8 47% 2%
2. |TKA-11 14 12 1 10 1 92% 8%
3. |XTI-11 4 4 1 2 1 100% 5%
4. |BII-196 14 11 0 2 6 3 73% 18%
TBEBM-1 99 | 12 | 0 0 4 8 33% 0%
5 [13ck =
DakyJbTET iHAKEHEPHUX CUCTEM TA €KOJIOTII 7204 37%
1. |BIII-18a 19 12 0 1 6 5 58% 8%
EK-11
: 0 0
> |Im3nCc-11 6 5 0 0 1 4 20% 0%
3. |bLI-18 20 11 1 2 6 2 82% 27%
4. |I'b-11 5 4 4 0 0 0 100% 100%
5. |TE-11 3 2 1 0 1 0 100% 50%




dakyJbTeT aBTOMAaTH3alil Ta iHGopMaliHHUX TEXHOJIOT I 79% 45%
1. |pc-11 4 4 0 3 0 1 75% 75%
0 0
> |EMO-11 8 8 0 2 3 3 63% 25%
PMO-12 1 g 7 0 0 2 5 29% 0%
3. |ck.
4. |(ITHK-11 10 10 3 4 3 70% 30%
5. |ATII-11 7 7 3 3 1 100% 86%
6. |BIKC-11 9 6 4 1 1 83% 67%
7. |KH-11 15 12 5 5 2 0 100% 83%
8. |ICT-11 6 4 2 0 1 1 75% 50%
9. |[KCM 8 8 0 3 5 0 100% 38%
10 |€CA-11 2 1 0 0 1 0 100% 0%
ApxitekTypHnii pakyJabTeT 86% 55%
1. |APX-16 |22 15 7 3 4 1 93% 67%
2. |APX-136 | 20 16 6 5 3 2 88% 69%
3. |APX-18 19 17 2 3 9 3 82% 29%
4. |APX-17 22 18 7 5 5 1 94% 67%
0 0
5 |APX-14A 21 21 4 6 7 4 81% 48%
6. |APX-15 22 22 7 4 6 5 7% 50%
7. |APX-14b| 20 19 5 7 5 2 89% 63%
8. |APX-13a | 20 19 2 6 5 6 68% 42%
9. |APX-11la | 23 23 3 11 9 0 100% 61%
10. |APX-116 | 23 22 2 6 11 3 86% 36%
11. |APX-12a | 22 20 3 10 5 2 90% 65%
0 0
12 |APX-126 22 22 5 10 4 3 86% 68%
DakyJbTeT YPOAHICTUKH i MPOCTOPOBOro MJIAHYBAHHSA 49% 21%
1. |BII-11 |24 22 0 2 5 15 32% 9%
2. |BIlI-17a |24 24 2 6 8 8 67% 33%




